. sng the tubles

Lurn these: _, Learn these:
10 -10= 0 |10 -10 = 0[8 10 - 10 = 0
11T -10 =1 |11 -10= 1811 -10 = 1
12 -10 = 2 (12 -10 = 2812 - 10 = 2 =
13-10 =3 (13 -10= 3813 -10 = 3 .
14 — 10 = 4 14 - 10 = 4 | 14 - 10 = 4[
15 -10 = 5 15-10 =5 [15 -10 = 5[
16 - 10 = 6 16 - 10 = 6 [ 16 - 10 = 6|
17 =< 1T = 7 17 = 90 = 7 -
18 - 10 = 8 18 - 10 = 8
19 - 10 = 9 19 - 10 = 9
20 - 10 = 10 20 - 10 = 10
21 - 10 = 11 21 - 10 = 11
22 - 10 = 12 22 - 10 = 12
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i Day 4  Say the tables.

Learn these: ; Learn these:

10 - 10 = 0 | 10 - 10 = 0

11 -10 = 1 | 11 - 10 = 1

12 1 = 2 I 2 =1 = 2

13— 18 = 3 | 13 - 10 = 3

14 — 10 = 4 | 14 - 10 = 4

15 - 10 = 5 | 15 - 10 = 5

16 — 10 = 6 16 — 10 = b6

1i =W = % | ¥ = 7 17 - 10 = 7

18 - 10 = @8 | 18 — 10 = 8| 18 = 10 = 8

19 10 = 9| 19-10= 9|19 -10 = 9

20 - 10 = 10 | : 20 — 10 = 10 20 — 10 =10
21 — 10 = 11 | 21 - 10 = 11 21 - 10 = 11
k“22 = 4y = 12 i k22 - 10 = 12 22 - 10 = 'IZJ
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3. _7} or T

(@ 21-10=10
(b) 14-10=4
(c) 19-10=9
d) 22-10=12

m Do Test 22 on page 72.




